September 14, 2016

2-1 Operations with Polynomials
Objectives:
- | can identify the parts of a polynomial

- [ can perform operations with polynomials
including addition, subtraction, and
multiplication
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Monomials
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Polynomials pg. 315

2 3
Identify the terms of the polynomial y 4+ 3y* — 5y° + 10. %ﬁjﬁ_’ﬁiﬁ )

Identify the coefficient
of each term.

;‘x"’ \n Lron+ | Coefficient ﬂ ’5 — 6 S

Voric BLL
Identify the degree of

each term.

Degree 1 2 2 o

3
Write the polynomial in standard form. _ 6% "'3 ‘:‘J'?- + ‘-31' )O
\\\'%\r\eg.\_ —) \ow.(g\- ok’ﬁw B %

What is the leading coefficient of the polynomial?

Coe i ceny of Yru wid,
h33n43+ deg(&)-
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Adding Polynomials pg. 316
Ex 1 (4x*— x>+ 2+ 5x*) + (—x + 6x* + 3x9)

5¢ —x° +4x? +2
+6x* —x

8X4 X'B +IO)<2—)<+2

Ex 2 (1051 45— 2) + = msums)

X '\lox - X +—6
- X\ Ay
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Add the following polynomials pg. 316

(17x* + 8x* — 9x+4 2¢) + (11x° — 8x* + 12)

7 % LB 2
X = Byl T D

( —8x + 3x" +x)+(4x x+17) O\)(’

- R+ 3%+ o
Ax* =x + | ]

Ly dxT- Qe (7T
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Subtracting Polynomials pg. 317

(122 £ 5x 4 8x* + 19) f f6x* + 9x @ 3 £ 18xY)

Write in standard form. 12 —8x* +5x +19

Align like terms and add the oEEosite. +18x* —6x* +9x -3
3 2
Add 20X -14X 414+ 1o

—4x* + 8x° + 19 — 5x 9+2.x +10x

( Ay B [1-5¢
—+ <—ﬂ 52735\0)(%

5% B 3= oy 1
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Subtract the following polynomials pg. 317

(2357 =0 + 1) + (A% + 6 + 31)
15% " _(ox* +3 2

(720 + 132 — 8¢° +207) - (4264 9x)
~CX 7+ o H I




September 14, 2016

Pg. 318
The data from the U.S. Census Bureau for 2005-2009 shows that the number of male students

enrolled in high school in the United States can be modeled by the function M(x) = —10.4x°

+ 74.2x* — 3.4x + 8320.2, where x is the number of years after 2005 and M(x) is the number
of male students in thousands. The number of female students enrolled in high school in the
United States can be modeled by the function F(x) = —13.8x* + 55.3x* + 141x + 7880, where
x is the number of years after 2005 and F(x) is the number of female students in thousands.
Estimate the total number of students enrolled in high school in the United States in 2009.

In the equation T(x) = M(x) + F(x), T(x) is the total number of students in
thousands.

M () = =10 4x14. 8- 3440507
N

o=

T <)
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V=length x width x height Pg. 327
=(x+3)(x+2)x

|dentify the vo
Vi
V2
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Multiplying Polynomials pg. 328

5x" 6x' = 30x' *° —2xy'z - 5’z = —10x%y T3 !

2,,6,2

= 30x* = —10x"y"z

5 X o XX

+ 3x) (1% x>=2(1 + x) + 3x(x+ 1)

&/@+\><> + 5®>

S, *’&x\%x

3\{2 +5Y + 7
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Pg. 328

Ex1 €+2)(L—x+25)
Find the ct by multiplying horizontally.

2% =74
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(Bx—4)(2 + x— 7%}

—TIx*+x+2
X 3x—4
70-4x - QR
2R Hox O
RN K — %\B

L

Pg. 329

22|
x 21




Multiply the following polynomials pg. 329

(34 2x)(4 — 7x + 5¢Y)

(x—6)(3 — 8x — 4x})
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Multiplying with a table

(X°+3x-5)(x*-x+1)

X° -
X2 ><4//_ N
+3X > IX
_5 2 ></4 [
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